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(32==) Wartd | ®aH | SH= e
At2H(17H/300~3509) 2,489 2,456 33 1.34%
Hi (17H/650~700g) 4,984 5,104 |- 120 -2.35%
2(170/1kg) 1,190 1,284 |- 94 -7.32%
HY 3= (1= 7| /3kq) 3,519 3,521 |- p) -0.06%
CHitH(15/S/1kg/2E 7HA) 5,231 6,259 |- 1,028 -16.42%
2 0[(37H) 2,936 3,344 |- 408 -12.20%
H K| 27| (=4H/2FE A /60009) 13,842 12,070 1,772 14.68%
SETLE St 7[(10r2]/1kg) 5,954 6,098 |- 144 -2.36%
(16E3) A D7|(=Z /=7 HE LK /1S 39,648 38,688 960 2.48%
A0 7] (3= A/LAZH|/6009) 19,905 19,530 375 1.92%
= ZF(1et/Ci 2k/307H) 7,075 7,583 |- 508 -6.70%
Z7[(10r2]/=48/15cm) 1,444 1,666 |- 221 -13.28%
ZX|(10r2[/=4t/80cm) 7,598 7,838 |- 240 -3.06%
n50{(10r2|/=ZA/30em) 3,025 3,131 |- 106 -3.39%
HEf(10r2]/2H A|OFLF/40¢m) 3,951 4,030 |- 79 -1.95%
L H0o|(10r2]|/3H=/30cm) 4,486 4,256 230 5.40%
A (20kg) 61,230 60,690 540 0.89%
2| (=4/1kg) 3,604 3,704 |- 100 -2.70%
Lt 1t(1kg) 2,902 3,528 |- 626 -17.74%
7HO0H=(1kg) 9,708 8,502 1,206 14.18%
L7t = (S EHE/1kg) 1,399 1,469 |- 70 -4.77%
B (12/300g/3 QA +W1| 1,083 1,088 |- 5 -0.46%
M= AME82(18L/E7|E 5,720 5,700 20 0.35%
(1483) =18 36OmQ/ADH7.§1) 1,295 1,295 - 0.00%
O 2= (19 500me/A 01 ) 1,490 1,490 - 0.00%
A (1Y 360me/2] Al 4,000 4,000 =3t
I3H’<(1 B 500me/2| &) 4,000 4,000 =3t
3|22 (L) 1,528 1,487 41 2.74%
74 S(1L) 1,346 1,307 39 2.98%
S(1L) 908 908 - 0.00%
70 21 A H| A EHKPE*HIU50~2009/%LHH/9|M) 12,000 12,000 H 3t
(28F) | A £(150~200g/=LiLt/2l4) 12,000 12,000 3t




